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SECTION - A
i) General Awareness

. God particles, a sub atomic particles in

the universe also known as
(A) Plasma (B) Neutrinos
(C) Dark matter (D) Higgs-boson

. NASA stands for

(A) North Atlantic Space Association

(B) North America Space Agency

(C) National Aeronautics and Space
Administration

(D) North Atlantic Space Agency

. Which of the following city name was now

be changed to Prayagraj ?
(A) Allahabad

(B) Banaras

(C) Gurgaon

(D) None of the above

. Which of the following state is the first

state in the country to have a law to
protect those good samaritans who come
to the aid of victims of road accidents ?
(A) Bihar (B) Tamil Nadu
(C) Karnataka (D) Odisha

. What was the operation code name

of the government of India to aid the
earthquake and tsunami hit Indonesia in
2018 ?

(A) Samudra maitri

(B) Raahat

(C) Samudra mitra

(D) None of the above

. Wheeler island which is recently

renamed as a Abdul Kalam Island is
located in the state of

(A) Karnataka

(B) Guijarat

(C) Odisha

(D) None of the above

7. Which of the following Section of the

10.

Indian Penal Code deals with Offence
of Sedition ?

(A) Section 420 C
(B) Section 124 A
(C) Section 115 A
(D) None of the above

State of Democracy in the World in 2018
released by

(A) UNICEF

(B) Amnesty international

(C) Economist intelligence unit
(D) None of the above

NASA recently plannedtolaunch unmanned

nuclear-powered drone, Dragonfly. What

is the aim of this project ?

(A) Aims to search for signs of microbial
life on Saturn’s moon Titan

(B) Aims to carry the astronaut’s to the
Mars

(C) Aims to search the alien life on
Jupiter
(D) None of the above

Which of the following country planned
to introduce a Green tax on plane tickets
from 2020 ?

(A) SriLanka

(B) France

(C) India

(D) None of the above
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11.

12.

13.

14.

Which of the following organization
published a “Global Study on Homicide
2019" 7

(A) UNODC (United Nation Office on
Drugs and Crime)

(B) ILO (International Labour
Organization)

(C) WHO (World Health Organization)
(D) None of the above

Which of the following Article of the Indian
Constitution deals with the “Uniform Civil
Code” ?

(A) Article 72
(B) Article 32
(C) Article 44
(D) None of the above

Which of the following city recently
became the UNESCO world heritage site
of India ?

(A) City of spices, Kozhikode (Calicut)
(B) Pink city, Jaipur

(C) Garden city, Bengaluru

(D) None of the above

In the context of Agriculture what is
zero-budget natural farming ?

(A) Zero-budget natural farming is a form
of natural farming which is neither
chemical-loaded nor organic with its
reliance on manure

(B) A natural farming technique that
make uses of modern agricultural
practices

(C) Zero-budget natural farming is
a technique that make uses of
chemical pesticides and fertilizers
instead of biological ones

(D) None of the above

15

16.

17 A

18.

19.

20.

1 0O OO

Dhola Sadiya Bridge, currently the
longest bridge in the country which built
across which of the following river ?

(A) Lohit

(B) Narmada

(C) Ganga

(D) None of the above

Bhoodan Movement was started by
(A) Atal Bihari Bajapayee

(B) Vinoba Bhave

(C) M. K. Gandhi

(D) J. P. Narayan

Which of the following women athlete
has been appointed as the first ever
youth ambassador by the United Nations
Children’s Fund ?

(A) Hima Das

(B) Dipa Karmakar

(C) Poovamma

(D) None of the above

Who won the gold medal in the World
Women’s Boxing Championships 2018
held in New Delhi ?

(A) Mary Kom

(B) Lovlina Borgohain
(C) Simranijit Kaur

(D) None of the above

Puri Jagannatha Swami temple is located
in which of the following State ?

(A) Gujarat

(B) Kerala

(C) Andhra Pradesh
(D) None of the above

A capital of Lakshadweep, a Union
Territory of India is

(A) Minicoy
(C) Port Blair

(B) Kavaratti
(D) Silvassa
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21.

22.

23.

24.
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ii) Mental Ability and Reasoning Ability

Choose the number pair which is
different from the others.

A) 64-80
50-66

93}

(
(
(

)

32-48

)
)
)
) 63-77

(D

11: 1210 ::8:
(A) 216
(B) 1029
448

(D) 729

Select the word which is least like other
words in the group.

(A) Othello
(B) King Lear
(C) Oliver Twist
(D) Macbeth

Find the missing number in the series.
-1,0,3,7, 15

(A) 7
(B) 8 3

25.

26.

27.

If TRACE’ is written as ‘GIZXV’, how
will you encode ‘COOLER'’ ?

(A) XLLOVI

(B) XLLPIV

(C) OXXPVI

(D) RELOOC

Sita is the niece of Ashok, Ashok’s
mother is Laxmi. Kalyani is Lakshmi’s
mother. Kalyani's husband is Gopal.

Parvathi is the mother in law of Gopal.
How is Sita related to Gopal ?

(A) Great grandson’s daughter
(B) Daughter
(C) Great granddaughter

(D) Grand niece

(Questions 27 -31):L,M,N,O,P,Q,Rand S
are sitting around a circle facing the centre.
‘N’, who is third to the left of ‘P’, is not a
neighbour of ‘R’ and ‘M. ‘S’ is the neighbour of
‘0’ and ‘R’ and is third to the right of ‘M. ‘L’ is
not the neighbour of ‘O" who is second to the
left of ‘N

What is the position of O ?
(A) Immediate right of R
(B) Immediate right of N
(C) Third to the right of M
(D) None of these
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22.

23.

24,

FEFW AT S = o A =T R |
64-80
50-66

32-48
63-77
112121018
216

(B) 1029
(C) 448
(D) 729

I% Y8 T S TR % 3 YIeal § TaH
=4 fied 2 |

(A) STiga

(B) T =fiw

(C) e feaee

(D) HeFeiw

TEed ~1, 0, 3, 2, 15 H T T I A
(A) 7

(B) 8

(C) 5

(D) 10

25.

26.
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Iz TRACE ®1 ‘GIzXV i for@r san 8, &t
‘COOLER’ il 3119 fohd JohH shsig il 7
(A) XLLOVI

(B) XLLPIV

(C) OXXPVI
(D) RELOOC

H¥ar 319iies At syttt & | 39Tl <61 o aett
2| Tl Sedt i 4 2| weamit w afa
T & | Sraid) TTe s w2 | e e
¥ fore germ wafea 2 2

(A) T A G
B)

(C) WUt

(D) TweTst

G 27-31):L,M,N,O, P, Q, R 3R S %
I | &3 il AR T@ e 98 &l ‘N' 51 ‘P’ o a1
diew 2, R 3RCM = v € 81 ‘S, O 3R
‘R 1 TSI & 3 ‘M & e ffmu 81 L ‘O
vert 7€ & St N o a1 g 2

27. OFYHRL?

(A) R g
(B) N & g and
(C) M3 2 dra
(D) ¥ ¥ IS &I
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28.

29.

30.

31.

Which of the following is the pair of
adjacent persons ?

(A) Oand M
(B) MandN
(C) Rand O

(D) None of these

Which of the following pairs has the first
person sitting second to the left of the
second person ?

(A) Nand M
(B) Qand S
(C) LandQ
(D) None of these

If N and O interchange their positions,
then which of the following will be the
correct statement ?

(A) R is second to the right of Q
(B) Oisbetween L and Q

(C) Nis between L and Q

(D) None of these

Which of the following has the second
person sitting between the remaining
two ?

(A) M,L,P

(B) N,L,Q

(C) Q,N,O

(D) None of these

32.

33.

00O 0k

A watch reads 4:30. If the minute hand
points to east in which direction does
the hour hand point ?

(A) North-East

(B) South-East

(C) North-West

(D) North

Numbers in the Venn Diagram indicates
persons reading newspapers. Diagram
is drawn after surveying 50 persons.
In a population of 10000, how many
can be expected to read at least two
newspapers ?

®

1
(A) 5000
(B) 6250
(C) 6000
(D) 5400

Which letter will be the fifth from the right
if the first and the second, third and the
fourth and so on are interchanged in the
word ‘COMPANIONATE’ ?

(A) A

(B) |

(C) N

(D) O
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28.

29.

30.

31.

frafafea § @ w8 smo= =fwl 5
FH?

(A) O3RM

(B) M3MmN

(C) R3O

(D) = & IS e

Frerferfiaa § & 9 gt =2 3 gt o
T S §Y T8 A I FHE 7

(A) N3RM

(B) Q3RS

(C) L3rQ

(D) ¥H & IS A&

Ff2 N 39T O 3199 TIH 37199 § S 8,
a1 Frefefaa § & S Fo g g ?
(A) R, Q% and e ?

(B) O,L3mQFd=d2

(C) N,LeQ=d=ad?

(D) ¥ B =rg A&

Freferfiaa & Fen o =t & S A
PgHAEAAIE 7

(A) M, L, P

(B) N,L,Q

(C) Q,N,0

(D) 370 & HI§ TE

32.

33.

34.
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TF "I 4:30 gt 2| AR e M gg @
it 3R R, =2 arel gE fFa A 2 7
(A) FR-gd

(B) sfem-gd

(C) IW-ufv=m

(D) I

39 IRE@ H TN GHERYS Tedard
fFaat it g sl €| 3mE

50 SafFal &1 GA&0 A & FE ST
TETE| 10000 T SEEAT # fai @ FHad
! TETIRTS UgH s ST0eT Y St B 7

I L
&Q

@
moo

(A) 5000

(B) 6250

(C) 6000

(D) 5400

FITET HeR FC F = T AR wes
‘COMPANIONATE' 3 29 3787 1 g8,
e =t <9 TR 3E e A ot R
wee fean s ?

(A) A

B) |

(C) N

D) O
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35.

36.

37.

A monkey climbs 30 feet at the beginning
of each hour and rests for a while when
he slips back 20 feet before he again
starts climbing in the beginning of the
next hour. If he begins his ascent at
8 a.m. at what time will he first touch a
flag at 120 feet from the ground ?

(A) 5p.m.
(B) 4p.m.
(C) 6p.m.
(D) None of these

Which number completes the matrix ?
11120 1 |100
8| 3| 5 |56
F1 5116 | ¢

(A) 28
B) 27
(C) 21
(D) 19

NN

N

A studenthasto passin both Mathematics
and Science to be promoted. How many
students gets promoted ?

I. There were total 50 students in the
class.

Il. 30 students passed in Mathematics
while 40 passed in Science.

(A) Data in statement | alone are
sufficient to answer the question

(B) Data in statement Il alone are
sufficient to answer

(C) Both | and Il are not sufficient to
answer the question

(D) Both | and Il are necessary to
answer the question

38.

39.

40,

00 OO 0

A man has a certain humber of small
boxes to pack into parcels. If he packs
3,4, 50r 6 in a parcel he is left with one
over, if he packs 7 in a parcel, none is
left over. What is the number of boxes,
he may have to pack ?

(A) 106

(B) 301

(C) 309

(D) 400

In a family a couple has a son and a
daughter. The age of the father is three
times that of his daughter and the age
of the son is half of his mother. The wife
is 9 years younger to her husband and
the brother is seven years older than his
sister. What is the age of the mother ?
(A) 40 years

(B) 45 years

(C) 50 years

(D) 60 years

1
In an office -gof the workers are women,
—;-of the women are married and _1_ of
the married women have children. If %

of the men are married and %of the
married men have children. What part

of the workers are without children ?

4
(A) 9

(B) 35
©€) 5

D) -3
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35.
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38.

39.

40.
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U i F U I A % 6w 38 3R
I 3| I 3% 3, 4, 537 6 F TF IS
T Ush TG §, d 39 UTH U §=1 &l
21 92 98 7 %1 uw uEe § 9 Far 8, 9
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(A) 106

(B) 301

(C) 309

(D) 400

T TR H U e o O T iR
21 i it g R A d o ? gt
Ty I9h! AT € 3l €1 ot o ufa |
9 T B & 3R 9E o S | 7 9
o1 | T Y ST TR 7

(A) 404

(B) 45ad

(C) 50ad

(D) 6074
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1nﬁmﬁmﬁﬂéaﬁt S e

Hf%waﬁaaa%%laﬁ gwﬁmﬁa
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(A) g

o

(B) 35
©) =

D) 15
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41,

42.

43.

44.

45.

46.
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iii) Numerical Aptitude and Data Interpretation

A positive integer, which when added
to 1000, gives a sum which is greater
than when it is multiplied by 1000. This
positive integer is
(A) 1
(C) 5

(B) 3
(D) 7

The sum of two numbers is 528 and their
HCF is 33. The number of pairs of numbers
satisfying the above conditions is

(A) 4 (B) 6

(C) 8 (D) 12

00 38 o rheallaIBE x I
0144 x

(A) 0.0144 (B) 14.4

(C) 144 (D) 1.44

If %of an estate be worth Rs. 16,800/-

then the value of -E; of the estate is

(A) Rs. 9,000
(C) Rs. 72,000

(B) Rs. 21,000
(D) Rs. 90,000

What number should be divided by
J0.25 to give the result as 25 ?

(A) 125 (B) 25

(C) 50 (D) 125

The average of the first nine prime
numbers is
(A) 11

®) 112

47.

48.

49.

50.

51.

A positive number when decreased by
4 is equal to 21 times the reciprocal of
the number. The number is

(A) 3 (B) 5

€ 7 (D) ¢

The ratio between the present ages of P
and Qis6:7.1fQis 4 years old than P,
what will be the ratio of ages of P and Q
after 4 years ?

(A) 3:4

(B) 3:5

(C) 4:3

(D) None of these

jEgtrto = then the value of n is
(A) 3 (B) 2
) o (D) -2

0.01 is what percent of 0.1 ?
1

A B

*) 100

1

o

®) 10

(C) 10

(D) 100

A fraction which bears the same ratio

to 55 that L does to i, is equal to
27 11 9

(A)

|~ &~

(B)

-
mw—l-

C) —
(D) 55
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41.

42.

43, IR

45,

46.
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iii) T Hive Ud g FHdeA

T AT QUTTeh 31 518 1000 W SA1eT ST
® qe U UH Uiy wred gt @ S 3™ 1000
TN - S WIS T SAF |
I7 YATCHS QOIS o
(A) 1
(C) 5

(B) 3
(D) 7

S 3T o I 528 & 371 39 7YY 33
? | TETET o i sl e S 9 9l i
T A B
(A) 4
(C) 8

(B) 6
(D) 12

(A) 0.0144
(C) 144

(B) 14.4
(D) 1.44

Ife ua gufa & %‘qﬂ@ Rs. 16,800 %,
@ waf % gamrr-r%

(A) Rs. 9,000
(C) Rs. 72,000

(B) Rs. 21,000
(D) Rs. 90,000

gftor 25 yTe = & fore form e
J0.25 ¥ ferrisra feman san =nfew ?
(A) 125 (B) 25

(C) 50 (D) 125

IH At AT GEA13T F 3Ed @
(A) 11

(B) 11E

47.

48.

49.

50.

51.

e TN ST 0 8 4 92 T 98 HEA1
% Sgehy & 21 T[UT % S § | HEAT
(A) 3~ (B) 5
C) 7 (D) 9

P 3l Q i aduH 3T 6:7%1
R QF MY PF 479 w2, A4 adH
1R P 37 Q % S I AT I BT 7
(A) 3:4

(B) 3:5

(C) 4:3

(D) T8 Y HE
-q-ﬁ.‘- 22n—1: 1

8n-3 2

‘cﬁnﬂrﬂ?%

(A) 3
) 0

B) 2
(D) =2

0.01, 0.1 =1 fera gt 2 7

]
W 5o

’
B %

(C) 10
(D) 100

ws Tt gt -21—7 % H1Y T IFIIE ©
Ell %aﬁr%%m%,%m%

1
Ay
()5
1
11

©) %

(54}

(B)

(D) 55
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52.

53.

54.

55.

In a dairy farm, 40 cows eat 40 bags of
husk in 40 days. In how many days one
cow will eat one bag of husk ?

(A) 1
’
®
(C) 40
(D) 80

A can finish a work in 18 days and
B can do the same work in half the time
taken by A. Then, working together,
what part of the same work they can
finish in a day ? '

(A) (B)

(©) (D)

o o=
N[N o=

In how many different ways can the
letters of the word ‘OPTICAL’ be
arranged, so that the vowels always
come together ?
(A) 120

(C) 4320

(B) 720
(D) 2160

A bag contains 4 white, 5 red and 6 blue
balls. Three balls are drawn at random
from the bag. The probability that all of
them are red, is
1

(A) 55
-

22

2
91

2
'ﬁ

(B)
(©)

)

56.

57.

58.

59.

60.

BT 0 0

Find the odd man out.
4,5,7,10, 14, 18, 25, 32
(A) 7

(B) 14

(C) 18

(D) 32

If in a code, MIND becomes KGLB and
ARGUE becomes YPESC, then what
will DIAGRAM be in that code ?

(A) BGYEPYK

(B) BGYPYEK

(C) GLPEYKB

(D) LKBGYPK

Nitin ranks eighteenth in a class of
49 students. What is his rank from the
last ?

(A) 19

(B) 3t

(C) 18

(D) 32

If P denotes +, Q denotes x, R denotes +
and S denotes —, then what is the value
of 18Q12P4R5S6 ?

(A) 53
(B) 59
(C) 63
(D) 65

Insert the missing character.
3C | 2B 4 A
27 A ? 64 B
9C | 4A | 16B

(A) 8C
(B) 12B
(C) 16C
(D) 18C
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T ST EH H, 40 TR 40 ST AR SFT 40
&1 & wredt &, U T we S S g
fopem fei & @t ?

(A) 1

1
(B) a0
(C) 40
(D) 80
A T %14 w1 18 fei 4, B 3¢ &l =
A ER T TTC 5 o 3 wwg § P
okl &, A1 Ueh 1Y %73 &l Tk lea H 3
fopaa hrd ot o TR & 7

1 1
(A) . (B) =

2 2
(C) = (D) =
s ‘OPTICAL’ & 37&ii =t forat Tom
TR O SHafed 331 ST Geal & difes &
I HYTE ?
(A) 120 (B) 720
(C) 4320 (D) 2160
T a7 H 4 394, 5 o 30 6 i 12 §,
A T7e o | Agfeas w9 B et st

g, 3 ovft & o e i wRar @
1

(A) %

a4
22
<
91

=
77

(B)
(©)

(D)

56.

57.

58.

59.

60.
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gao1 fir BifeT |
4,5,7,10, 14, 18, 25, 32
(A) 7

(B) 14

(C) 18

(D) 32

7fe T 52 7 MIND, KGLB 37t ARGUE,
YPESC &1 &, 61 3¢ %52 # DIAGRAM
1 8 7

(A) BGYEPYK

(B) BGYPYEK

(C) GLPEYKB

(D) LKBGYPK

49 feenfeiat i v e # fAfew =1 =
1837 2 | 37d ¥ ITFHI TYH F1 2 ?

(A) 19

(8) 31

(C) 18

(D) 32

I P+, QF x, RFI + 31
Sl —guare, al 18Q12P4R5S6 FHIHAM

FE?
(A) 53
(B) 59
(C) 63
(D) 65

g e R i |
3C [ 2B | 4A
27A| ? | 64B
oCc | 4A | 168
(A) 8C
(B) 12B
(C) 16C
(D) 18C
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61.

62.

63.

65.
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iv) Hindi Language and Comprehension

&t wmw s Ay

4§ fifaesa 1 qe we-T A 2 7
(A) HHEHT T YTt

(B) STTeHTIY=ISA

(C) WY W Sl

(D) TR wE i @ i st

YA frE A e @ 7
(A) =

(B) Tsh

C) ==

(D) =T

TR I 712 Tel &
(A) 3= SfE

(B) Turef 3w HifeHt
(C) IR T

(D) rewedt

T =1 EY fasse
(A) T + T

(B) W + I

(C) HA: + IH

(D) A= + T

Ffoera & fa yrdta gfeeshion g wem =
we?

(A) SR T FeATeaTl

(B) THTE

(C) AT

(D) HFaTaEl

66.

67.

68.

69.

70.

B A wiEn 3w A (aiiea s
Hitfer fafan )

(A) BT
(B) ==
(C) Bm
(D) BT
AT H HH-81 T IqE@ ? 7
(A) =1 ™

(B) HAIM

(C) ferim AR

(D) aTeaeH

Tl AR g |

(A) % FTAT ST T B
(B) 9% TSI AT 3T o1
(C) =&l g e fomy o)

(D) B¥t 3w ferm um & fora B

oA T fora g Frpfa € ?
(A) &

(B) TAMafa

(C) wTa sfa

(D) TR

T I TS W 3F G H FA-
FE © 7

(A) FH FFH

(B) 3TIRH Fh

(C) =Y &h

(D) AT FRH
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71,

72,

73.

74,

75.
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T B YRUIE YO FT T -G
TR ?

(A) Hre

B) v

(C) 353 9Iash

(D) ywted
Frefafan 4 e wes fagmo 2 ?
(A) A= -

(B) @d

(C) ==

(D) fomr

Tl o STUR I o YIS &

(A) TeT F1 IgETRA
(B) HHE Tl

(C) Ugrea™
(D) F =i

Frefafea d aoaw wisg =1 =24 Fifsw |
(A) =T

(B) awl

(C) =reht

(D) g

Tt yrEt Y g et 2 7

(A) 10

(B) 11

(C) 9

(D) 8

76.

7.

78.

79.

80.
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rsifeer fergor & foru Frerferfia & & swgm
T et

(A) gfe

(B) ¥

(C) Twen

(D) feurfa

T foh TR 1 TSN & 7
(A) IETHFR
(B) HAYTHHR
(C) IWATHHR

(D) ¥ § i3 7

I % fohaq 92 € 2

A 7

(B) 5

C) 8

(D) 6

=i foas & wikar s 8
(A) SIS

(B) =M S¥ed

(C) ufvsarst SiT=e

(D) wfewT w12

TF 1 T TR 2

(A) w&d
(B) 3
(C) samw
(D) &
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v) English Language and Comprehension

35A | Sk iy

Read the following sentences and from among
the options choose the best replacement for
the underlined part of the sentence.

81. We were able to keep the deadline
because Partho knocked himself off.
(A) knocked on (B) knocked at
(C) knockedin (D) knocked out

82. You should hold on your bag tightly
because there are pickpockets and
petty thieves.
(A) hold up to

(C) hold onto

(B) hold in on
(D) hold out on

Pick out the most effective word from the given
words to fill in the blanks to make the sentence
meaningfully complete.

83. Power can freedom of speech
where free speech is entirely
(A) establish... borrowed
(B) take... irrelevant
(C) curb... appropriate
(D) deny... mistaken

84. | flowers on my grandmother’s
grave to her on mothers day.
(A) soaked... respect

(B) placed... honour

(C) maintained... relate

(D) replaced... notice

Each guestion gives a word followed by four
choices. From the choices select the most
suitable synonym (word which means the
same) for the main word and mark its letter as
your answer.

85. Circumlocution
(A) antecedent
(C) verbiage

(B) reincarnation
(D) bursary

86. Benign
(A) malediction
(C) antidote

(B) amiable
(D) antithesis

Each question has a word followed by four
choices. From the choices identify the one
which is opposite in meaning (antonym) to
the main word and mark its letter as your
answer.

87. Disconsolate
(A) Harmonious
(C) Crestfallen

(B) Depressed
(D) Elated

88. Glistening
(A) Preposterous (B) Upright

(C) Lacklustre (D) Absurd

Add suitable question tag to the following
statement.

89. Everyone liked the idea, ?
(A) isn't it (B) did they
(C) didn'tthey (D) were they

Select a word or phrase from the given options
to complete the sentence.

90. Although he worked very hard
get first class marks.
(A) he did not
(B) however he did not
(C) but he did not
(D) inspite of it he did not

Read each sentence to find out whether there
is any error in it. The error, if any, will be in
one part of the sentence, the letter of that part
is the answer.

91. In this special meeting, many individuals
and some groups has also participated.
(A) In this special meeting

(B) many individuals

(C) and some groups

(D) has also participated
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92. Does she know how to play the Veena,
besides to perform effectively the duties
related to the household ?

(A) Does she know how

(B) to play the Veena

(C) besides to perform effectively

(D) the duties related to the household ?

93. In major road accidents, many
passengers are killed and the injured
are admitted to hospital and received
attention.

(A) In major road accidents, many
passengers are killed

and the injured

are admitted to hospital and
received attention

(B)
(©)
(D)

94. This cannotbe a hen egg it looks much
bigger.

(A) This cannot

(B) beahenegg

(C) it looks

(D) much bigger

Which of the options (A), (B), (C) and (D) given
below should replace the underlined phrase in
the following sentences to make the sentence
grammatically correct ?

95. It is cold, yet he is wearing any
sweater.

(A) he is wearing any sweater

(B) he is not wearing a sweater

(C) he should wear a sweater

(D) he did not wear any sweater

-19-
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96. In view of my teacher’'s guidance,
| have become confident of achieving
my goals.
(A) In view of my teacher's guidance
(B) Due to my teacher’s guidance
(C) Because of my teacher's guidance
(D) With respect to my teacher's guidance

Give one-word substitutes for the following
from among the choices given below them.

97. Aninn or public house
(A) tavern
(B) tenement
(C) apartment
(D) maxim
98. To smile or speak in a contemptuous or
mocking manner
(A) Ramble
(B) Suffrage
(C) Poltroon
(D) Sneer

Replace the underlined part with the appropriate
idiom from the given options.

99. The management was criticized strongly
for remaining silent spectator when the

internal clashes flared up.

(A) Received with open arms
(B) Rapped over the knuckles
(C) Swept off their feet

(D) In tatters

100. At first he wanted to hide it from his

family and friends but later he decided

to confess so that he would no longer
feel guilty.

(A) win his laurels

(B) bury the hatchet

(C) think better of it

(D) make a clean breast
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101.

102.

103.

104.

105.

106.

SECTION-B

10 0O A O O

Post Specific Subject-Related Questions

The principle which analyzes an individual
not from a single aspect but from a

various aspects

(A) Purposeful expression of feelings
(B) Control emotional involvement
(C) Self determination

(D) Individualization

Working with others with common effort
is called

(A) Collaboration (B) Commitment
(C) Congruence (D) Coordination

is an organization which
runs several instances of a business in
many locations.
(A) Household
(C) Franchise

(B) Community
(D) Gang

A group of people who do not favor any
change in the existing social order or
structures so that their privileges may
not be disturbed is called

(A) Ethnic group

(B) Vested interest group

(C) Pressure group

(D) Reference group

A small group of around 3 to 8 people,
who work as a team to accomplish their
goals is called

(A) Squad (B) Mob
(C) Posse (D) Team
is characterized by the

recognition of individual differences and
shared expectation.

(A) Storming (B) Norming

(C) Performing (D) Adjourning

107.

108.

109.

110.

is an organized group
process solving general social problems
and furthering social welfare objectives
by legislative, social, health or economic
progress.

(A) Social group work

(B) Social research

(C) Social action

(D) Community organization

theories of leadership focus
on particular variables related to the
environment that might determine which
particular style of leadership is best
suited for the situation.
(A) Situational
(B) Behavioral
(C) Participative
(D) Contingency

Describing change as a purposeful
movement towards one or more goals
with adjustments based on feedback
from the environment is called

(A) Life cycle models

(B) Teleological models

(C) Dialectical models

(D) Evolutionary models

Group members get to know each
other, start talking about the problem
and examine the limitations and
opportunities of the project. This stage
is called

(A) Orientation

(B) Conflict

(C) Communication

(D) Closure
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101.

102.

103.

104.

105.

106.
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1
Ui wWiafres fawg - gad e

T Frem it ush =afe 1 hee U vee |
T g s veeqel @ fovaifyd e 2
(A) TS ) SEvEyde srfireafa

(B) wTaHTeHss ®9 ¥ WIS B | fHafa

Eac

(C) =fv=g

(D) AAfeFaaror

RT3 T SIS T ¥ e i e

ATl & |
(A) geFd

(B) @mal
(C) TwETa (D) Tu=d

U ETTeA & 1 T IR
¥ S geera i T O e € |

(A) SRe] (B) THa™

(C) Fame (D) T

SN %1 THE S HIS[ET QTHIS 9 AT
GTEAT § g Giads T81 =red d1fs 39
oo fea = 2,
FEAW ¢ |

(A) TSI HYE

(B) Tafea fea vz
(C) ==ia uqe

(D) e &g

TRINT 3 8 FANTH 61 HHE A1 BT T, S
9 A& it gfed o fore vk 3 % &g
T Y A ¢, FEAT & |

(A) wRITE (®) e

(C) 9@ (D) W

1 JAfTe STat TR T

Fqeral Sl wr=Er g0 S e
SATE |

(A) wifT
(C) fomarem

(B) =i

(D) TN

107.

108.

109.

110.
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__ F Gnisqd uyE gEA R S
TS GUEIS] & g Hldl & AN
Torftres, amifsen, e o anfder wrifa gr
HTHTSTeR SheaTor S&d] shi 37 Serdl © |

(A) | TqE e
(B) | SFTEUH
(C) wmaTfSTeh foma
(D) BT Hre

ﬁaﬁﬁ_ﬁ__ﬁmmﬁamﬁ-

getua fave =0 ® Fiza & 5 g8 Fuifa
Fdt & T feufa m -t Sgea 9h
ST 2 |

(A) Tefqumes

(B) gIEWIcH

(C) urflrr

(D) 3TTeHiCTFRaT

et & gfafran ® Arenid gaEsEl
1Y T 471 3 Fed] Y AR

4 I U iEdd & ®9 H IUH HET
FEATA 2 |

(A) Sfa= = Aiea

(B) IRIIUTHF Alew

(C) EgIcas Afed

(D) faspraTes niga

HYE YT -G i ST T &, ST
% TR H q1d BT IE F © S TS
=1 doratt 3 aaedl 1 uhe w5 |
g = FeAd & |
(A) 3@ (B8) faar

(C) T (D) st
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112.

113.

114,

115.

116.

29

research is related to some
abstract ideas or theory.
(A) Descriptive (B) Quantitative
(C) Conceptual (D) Analytical

Research is equally important for
social scientists in studying social
relationships and in seeking answers
to various problems.
(A) Personal (B) Social

(C) Cultural (D) Economic

If the population from which a sample
is to be drawn does not constitute a
homogeneous group, then which of the
following sampling technique can be
applied so as to obtain a representative
sample ?

(A) Stratified sampling

(B) Multistage sampling

(C) Cluster sampling

(D) Systematic sampling

is the procedure that
improves the quality of the data

coding.
(A) Tabulation (B) Editing
(C) Coding (D) Computation

“Caste and Race in India” is the
work of where he
combined historical, anthropological
and sociological approaches.

(A) Louis Dumont (B) G. S. Ghurye
(C) B.N.Seal (D) lravati Kharve

process identifies a
problem about which some action
is required and helps them to solve
problems and fulfill needs.

(A) Investigation

(B) Community organisation
(C) Integration

(D) Open discussion

117.

118.

119.

120.

121.

0O O

is an experimental design
very frequently used in agricultural
research.
(A) Latin square design
(B) Randomizes block design
(C) Factorial design
(D) Completely randomized design

scale is adjusted in terms
of some rule that has been established
as a basis for making the units equal.
(A) Ratio
(B) Ordinal
(C) Nominal
(D) Interval

When the researcher has one dependent
variable which is presumed to be a
function of two or more independent
variables. |dentify the analysis to be
adopted.

(A) Multiple regression analysis

(B) Canonical analysis

(C) Multiple discriminant analysis

(D) Multivariate analysis of variance

The objectives of social case work
treatment is

(A) To provide training

(B) To restore social functioning

(C) To make decisions

(D) To identify weaknesses

The client has problem because most of
the time his ego becomes weak and he
himself feels defeated. In this situation
the social worker need to provide

(A) Guidance (B) Advice

(C) Inspiration (D) Support
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112.

113.

114.

115.

116.
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e fagra o feh
e feem @ gefia 2 |

(A) Toatomens (B) AEHE

(C) HehewTews (D) forversumenss

TS Tee] 1 LG i 3R A=

TS 1 B e &
fore s St & fore srgEem wam
w9 Y IANT R |

(A) st (B) TSI

(C) HThiae (D) Y=

T e SreReT fores o ek AT fHerTe S
& 11 Uo THH HYE T s, 9 v wfafy
ST ST 30 o (T TSI M= ariteh
Freafefea i g se-de ?

(A) Tlia gfe=e=

(B) Srg=RUit wice

(C) e wfae==

(D) uTTefiTa Sieq=as

g WisHa1 & St ATeher e
1 TTEET § YR O |

(A) EROfsAFT  (B) @UTEH

(C) FLHEHFET (D) UM

FRIUSE AT AR,

TSR 39Tl i e R |

(A) TEEEE (B) Sf.ww gl

(C) st.w. Hfw (D) ot F4
WSk Uk TR i UEE !

? s ar & =13 FriarE gifea ® 3k

IGHT THET GHTEH S SR AEHa

ot FH | FErFar w2 |

(A) =

(B) HTHRTRI He

(C) ThIE

(D) eft ==

17

118.

118.

120.

127
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_ FfY ey § sifesia: v
T YA f&asa 2 |

(A) fe TR feaéa

(B) Tewrss™ saieh fesmsa

_____ ‘s Fw o wal § samnfsa
form T ® 1 TERA FOSUSK B *
TR T ETiud H T F

(A) U

(B) AMHH

(C) mHET

(D) I

I U S o I U i e E
518 31 sxferss Fref = ot weh wahrd o
ST @1 8, a1 H{9 A1 SHaren fageo
AT |

(A) g foversor

(B) tarer fageiym

(C) =g 3= fawarwm

(D) Toraran = s fergeryom

TSI AT 18 STET & 3839 &
(A) wfSTEToT ST

(B) @IS T T ST WA

(C) Fvta &

(D) FHSHIET TE=m=l

TTESh %! GHEIT 3T Bt € SRAifeh

SARERTIT; I FAHH FHSIR I ST 8
3R % BT g Wegw = ¢ | Ut feufa
¥ genfores Frwd &l A
AEIFAT R |
(A) HRTESH
(C) T

(B) Hcre
(D) @'



MKG-XXV/TECHCO/1T/04

122.

123.

124.

125.

126.
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One of the steps of community
organization is

(A) Consciousness of need
(B) Collection of funds

(C) Protest

(D) None of the above

design has two areas selected

and the dependent variable is measured
in both the areas for an identical time
period before the treatment.
(A) After only with control design
(B) Before and after with control

design
(C) Completely randomized design
(D) Before and after without control
design

The model which tries to modify the
social policy by creating public opinion
against the problems is termed as

(A) Sanction model

(B) Direct physical model

(C) Legislative action model

(D) Dialectical model

is an attempt to identify the
problem areas which are important for
the solution.
(A) Explanatory study
(B) Diagnostic study
(C) Evaluation study
(D) Descriptive study

The group worker expresses his own

experiences before the group members.

It helps them in understanding their

problems. This is termed as

(A) Empathy

(B) Self disclosure

(C) Disclosure of confronting
behavior

(D) All the above

127.

128.

129.

130.

131.

132.

0 T OO O

A method through which group members
gain knowledge of their roles and other’s
roles is

(A) Cognitive restructuring

(B) Participation

(C) Role playing

(D) Social drama

is related to the early
discussions and positions taken by a
person in childhood.

(A) Structural analysis

(B) Transactional analysis

(C) Game analysis

(D) Script analysis

A leader should always try to mix up
with all members of the group which is
termed

(A) Adaptability

(B) Morality

(C) Flexible behavior

(D) Sociability

A group of people that has taken law
into their own hands is called

(A) Squad (B) Ingroup

(C) Mob (D) Gang

The ability to understand and deal with
people is called '

(A) Concrete intelligence

(B) Social intelligence

(C) Individual intelligence

(D) Abstract intelligence

is an ability to learn or to
develop proficiency in an area if provided
with appropriate training or education.

(A) Achievement
(B) Aptitude
(C) Intelligence
(D) Adaptation
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134.
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The group factor theory of intelligence
was propounded by

(A) Thorndike (B) Gardener

(C) Cattell (D) Thurstone

Learning to drive a car can help a
person later to learn to drive a truck
more quickly. This is an example of
(A) Vicarious learning

(B) Observational learning

(C) Transfer of learning

(D) None of the above

The most common sleep disorder
experienced by 10 to 40% of adult
population is termed as

(A) Parasomnia (B) Insomnia

(C) Narcolepsy (D) Sleep apnea

The first full fledged psychology

laboratory was established in India in
the year

(A) 1915 (B) 1920

(C) 1925 (D) 1930

The first component of observational
learning is

(A) Retention
(C) Motivation

(B) Attention
(D) Reinforcement

The ability to understand one’s own |

emotions, moods, goals is termed as
(A) Interpersonal intelligence

(B) Intrapersonal intelligence

(C) Spatial intelligence

(D) Fluid intelligence

Identify the psychologist who proposed
the Psycho-analytic theory.

(A) Erik Erikson

(B) Sigmund Freud

(C) Alfred Adler

(D) William James

140.

141.

142.

143.

144.

145.
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One of the following is required for the
development administration to be very
efficient and effective

(A) Scientific development

(B) Perseverance

(C) Sustainability

(D) People’s participation

A classroom is an example of
(A) Primary territory

(B) Secondary territory

(C) Public territory

(D) None of the above

An as yet unverified prediction based
on a theory is called

(A) Concept (B) Construct

(C) Hypothesis (D) Ingratiation

The first psychologist to conduct a
series of experiments to evolve theory
of learning

(A) Ivan Paviov

(B) Edward L. Thorndike

(C) Carl Rogers

(D) Erik Erikson

Rules within a group indicating how its
members should or should not behave
is termed as
(A) Values

(C) Culture

(B) Norms
(D) Ethics

The tendency for beliefs and schemas

to remain unchanged even in the face

of contradictory information is known as
effect.

(A) Reinforcement

(B) Perseverance

(C) Motivation

(D) Sustainable
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Identify the sociologist who said that
only by group experience an individual
becomes more socialised.

(A) Max Weber

(B) Karl Marx

(C) Charles Cooley

(D) Auguste Comte

Identify the major approach which leads
to sustainable development.

(A) Comprehensive approach

(B) Universal approach

(C) Integrated approach

(D) None of the above

The discipline of social welfare
administration includes the study of
organizational and administrative
structures at which levels ?

(A) Regional

(B) State

(C) National

(D) All of the above

A personal characteristic that atleast
some other individuals perceive
negatively is termed as

(A) Discrimination

(B) Stigma

(C) Stereotype

(D) Threat

A state of sadness or loneliness
following the death of a loved one is
termed as

(A) Grief

(B) Mourning

(C) Bereavement

(D) None of the above

151.

152.

168.

154.

155.

156.

00 OO 1

It refers to the institutional and
organizational capabilities of a nation
for production and diffusion of social
science knowledge

(A) Substantive indigenisation

(B) Theoretic indigenization

(C) Structural indigenisation

(D) Dynamic indigenization

Society consists of one of the following
components. ldentify the component.
(A) Leadership (B) Community
(C) Participation (D) Authority

The manner in which we interpret,
analyse, remember and use information
about the social world is termed as

(A) Social comparison

(B) Social cognition

(C) Social categorisation

(D) Social identity

A set of behavior which is attached to a
particular status is called

(A) Power (B) Authority

(C) Rights (D) Role

An individual has many statuses with
different roles which the individual
cannot always harmoniously perform
is termed as

(A) Role strain

(B) Role reciprocity

(C) Role conflict

(D) Role complementary

The group formed based on mutual
attraction and to fulfill needs is

(A) Formal group

(B) Informal group

(C) In-group

(D) Out-group
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The rise of industrism gave rise to
(A) Capitalism (B) Urbanism
(C) Liberalism (D) Industrialism

is the process by which a
person sheds the earlier learning and
adopts new behavior patterns.

(A) Socialization

(B) Acculturation

(C) Resocialization
(D) None of the above

The first sociologist to describe the
importance of primary groups to the
development of the human personality.
(A) Max Weber

(B) Edward Said

(C) Ibn Khaldun

(D) Charles Cooley

Values, norms, folkways and mores are
examples of

(A) Normative dimensions

(B) Material dimensions

(C) Cognitive dimensions

(D) Affective dimensions

Social control is exercised through
intrinsic factors such as

(A) Values (B) Religion

(C) Police (D) Courts

The traditional society rejects
modernization as modern values are

hostile to the indigenous values is |

called

(A) Disjunctive response
(B) Assimilative response
(C) Rejective response
(D) Disruptive response

e S S

163.

164.

165.

166.

167.

168.

A OO O

The theories that viewed society as
moving towards a final judgement that
would result in a ideal society

(A) Evolutionary (B) Apocalyptic
(C) Cyclical (D) Linear

The sociologist who explains the
concept of cultural lag

(A) William Ogburn

(B) Blumer

(C) Morris Ginsberg

(D) Bryan Wilson

The branch of psychology which
studies and describes physical, mental,
emotional and behavioural changes
with different age groups

(A) Clinical psychology

(B) Developmental psychology

(C) Social psychology

(D) Educational psychology

__alsoinfluences ourthinking,
our behaviour and our personality.
(A) Heredity
(B) Economic environment
(C) Culture
(D) Social role

An attitude includes
(A) Affect

(B) Cognition

(C) Behaviour

(D) All of the above

When parents forcefully restrict television
viewing by children can occur.
(A) Avoidance (B) Forewarning
(C) Reactance (D) Acceptance
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Rewards and punishments are
commonly used to accomplish goals.
This is termed as

(A) Classical conditioning

(B) Instrumental conditioning

(C) Modelling

(D) Exposure

The theory which claims that prejudice is
a result of competition between groups
for limited resources

(A) Social identity theory

(B) Social learning theory

(C) Economic theory

(D) Psychological theory

Beliefs about people based on their
membership in a particular group is
called

(A) Prejudice

(B) Discrimination

(C) Bias

(D) Stereotypes

The approach which involves the formal
and informal teaching of equality and
multiculturalism in the home, school,
social and media settings

(A) Cognitive approach

(B) Interpersonal approach

(C) Psychological approach

(D) Learning approach

theory is also known as Push
Theory of motivation.
(A) Drive theory
(B) Opponent theory
(C) Incentive theory
(D) Optimum theory

174.

176.

176.

177.

178.

179.

Active mental process by which a
person forgets by pushing down into the
unconscious thoughts causing anxiety
is called

(A) Regression
(C) Projection

(B) Rationalization
(D) Repression

leadership is generally the
most effective leadership style.
(A) Delegative (B) Authoritarian
(C) Participative (D) Autocratic

The type of learning where a problem is
posed, a period follows when apparently
no progress is made and then the
solution comes suddenly is called

(A) Latent learning

(B) Cognitive learning

(C) Observational learning

(D) Insight learning

The model which is based on decision
making and grounded in goals/
objectives, alternatives, consequences
and optimality is the

(A) Political model

(B) Rational model

(C) Process model

(D) Development model

In 1917 social work had only one of
the following theoretical and practice
model

(A) Social group work

(B) Social research

(C) Social case work

(D) Social action

Any circle of people who live together
and share a whole set of interest are
called

(A) Community

(B) Family

(C) Society

(D) None of the above
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The sociological concepts such as
have enriched social

work practice.

(A) Rights and responsibility

(B) Role and status

(C) Power and authority

(D) All of the above

Understanding society and generate
social change and modernization is
(A) Psychology

(B) Sociology

(C) History

(D) All of the above

theory is known as structural
theory which engages its attention on
the development of universal principles
of formal organization.
(A) Bureaucratic theory
(B) Systems theory
(C) Human relations theory
(D) Classical theory

is creativity to absorb,
combine and use ideas from different
sources and making it new.

(A) Synthesis

(B) Innovative

(C) Duplication

(D) Extension

Changing your behaviour to be more
like others is called

(A) Conformity
(B) Obedience
(C) Discipline

(D) Compliance

185.

186.

187.

188.

189.
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“Public administration is meant in
common usage the activities of the
executive branches of the national,
state and local governments”. This was
stated by

(A) Herbert A. Simon

(B) Dimock and Dimock

(C) Luther Gulick

(D) Merson

Identify the program which aims at the
economic well-being of the population
in hilly areas in western ghats.

(A) Hill Area Development Programme
(HADP)

Border Area Development
Programme (BADP)

Western Ghats Development
Programme (WGDP)

Desert Development Programme
(DDP)

(B)
(C)
(D)

is the establishment of the
formal structure of authority through
which the work is subdivided, arranged,
defined and co-ordinated for the defined
objective.
(A) Planning (B) Organization
(C) Coordinating (D) Directing

leads to specialization
and better work performance.

(A) Discipline

(B) Unity of command

(C) Unity of direction

(D) Division of work

plans to award individuals
or a group of individuals extra payment
for the extra work done by them.
(A) Individual-incentive plans
(B) Group-incentive plans
(C) Profit-sharing plans
(D) All of the above
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_____ is more concerned with
the investment of resources in human
beings.

(A) Rural development

(B) Social justice

(C) Social development

(D) Regional development

Social group work is designed for
(A) Therapy

(B) Support

(C) Education

(D) All of the above

Intense irrational fears of objects or
events is/are called

(A) Obsessions (B) Compulsions
(C) Anxiety (D) Phobias

Case work has always emphasized
principles of

(A) Motivation
(C) Judgement

(B) Self direction
(D) Compassion

A collective term for all forms of
treatment that use psychological rather
than somatic methods

(A) Psychopharmacology

(B) Psychotherapy

(C) Cognitive behaviour therapy

(D) Group therapy

Group work practice in India and other
developing countries makes

use of group process for therapeutic
purpose.

(A) major
(C) very little

(B) moderate
(D) no
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The psychology which provides
diagnosis to mental disorders and
prescribes therapies for their cure

(A) Educational psychology

(B) Abnormal psychology

(C) Organisational psychology

(D) Clinical psychology

approach provides
a holistic approach to study the human
behaviour.

(A) Psychoanalytical

(B) Evolutionary

(C) Gestalt

(D) Psychodynamic

___determines how much authority
and influence group members have.
(A) Community structure

(B) Power structure

(C) Role structure

(D) None of the above

is the application of operant
conditioning techniques to modify
behavior.
(A) Solution Focussed Modification
(B) Behaviour Modification
(C) Social Modification
(D) Programmed Learning

refers to severing the
connection between the feeling and the
situation in order to avoid the painful

reality.
(A) Denial (B) Acting out
(C) Isolation (D) Dissociation
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iuftgani o feru wevargul sew

13. This booklet contains 40 pages.

14. Directions :

15.

e )

ON '8

el

17

18.

19.

Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question, The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

Q@00

|Wrnng Method

0®00

Correct Method

OCe0O0

The Candidate must mark his/her response
after careful consideration.

18. There is only one correct answer to each
guestion. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any guestion,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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14.

15.

16.

17

18.

19.
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Go through instructions given in Page No. 1 (Facing Page)
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